12@0600 (K12a0600)

Y b\ Linearized knot diagam
AN
0P A
N

Solving Sequence

J
/12
\1\/\/;
28 >7—>3—>1—>6—>9—=>4->10~>11~> 12 > 5> C4,C11
C C10 Cs

A knot diagra ¢t G2 G Cg €3 Cg C12
Ideals for irreducible component#ﬂ)f Xpar

I =W a4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 54 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*4u¥+..- —u—1)

(i) Arc colorings

w- (1)

1
ag = 0

1
a7 = U2

u
a3 = \uyd+u
w3

ap = (u5+u3+u>

uw?+1
ag = u?

wt+u+1
ag— u4

—ull — 249 — 44" — 4ud — 33
a4 —u = —2u" — WP+t +u

u'? 4+ ut0 4+ 3u8 4 208 + 2ut +u? 4+ 1
a10 = \ uM + 2u'? + 5ul0 + 6ud + 6ul + 4ut 4+ u?

—u3 —5udt 4+ w2 41
a1l = _u36_4u34+._'_~_7u4+2u2

u?t +2ut? + -+ dud
a1 = u23+3u21+”.+2u3+u

—ut® — byt . —6ut + 1
as = \ —u*® —6u® + ... — 16u’ — 4u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’? + 4u®! + -+ — 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C6, C8 W 136+ —u+ 1
C2,C7 u54+u53+-~-—u—1
Cs u’t + U 4o — 94Tu — 457
€4, 5, C10 ut —uP e~ 3u—1
11
Cg, C12 w?* —9u® + - 4+ 607u — 89




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, Co, C8 Yot + 57y . — 45y + 1
2,07 Y13y e —y 41
c 54 53
3 Yo+ 17y 4 - - - + 468707y 4 208849
C4,Cs, C10 y54759y53+7y+1
11
54 53
Cg, C12 y°* + 37y°° + - - - + 87587y + 7921




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

0.421756 + 0.9053861

1.46770 + 2.755881

—6.58826 — 3.201751

0.421756 — 0.905386.1

1.46770 — 2.755881

—6.58826 + 3.201751

—0.472307 4 0.8617941

—4.61385 — 0.500411

—9.83076 + 3.293271

—0.472307 — 0.8617941

—4.61385 + 0.500411

—9.83076 — 3.293271

0.266117 + 0.9408791

—10.82780 4+ 2.680501

—17.4218 — 4.45211

0.266117 — 0.9408791

—10.82780 — 2.680501

—17.4218 + 4.45211

—0.407861 + 0.9382681

0.96567 — 6.613131

—8.59494 + 9.797801

—0.407861 — 0.9382681

0.96567 + 6.613131

—8.59494 — 9.797801

0.399116 + 0.9612611

—6.09084 + 9.227711

—12.2957 — 8.41631

0.399116 — 0.9612611

—6.09084 — 9.227711

—12.2957 + 8.41631

0.090589 + 0.9363301

—7.81225 — 3.847641

—15.8715 + 2.00651

0.090589 — 0.9363301

—7.81225 + 3.847641

—15.8715 — 2.00651

—0.276477 4 0.8812381

—3.10584 — 2.344421

—16.9541 + 6.04091

—0.276477 — 0.8812381

—3.10584 + 2.344421

—16.9541 — 6.04097

—0.062430 + 0.882605.1

—0.88339 + 1.636491

—12.53411 — 3.843611

—0.062430 — 0.8826051

—0.88339 — 1.636491

—12.53411 + 3.843611

—0.802323 + 0.8322621

—4.20575 + 0.663991

—10.65156 + 0.1

—0.802323 — 0.8322621

—4.20575 — 0.663991

—10.65156 + 0.1

0.818373 + 0.8653091

3.46423 + 0.458091

—8.00000 + 0.1

0.818373 — 0.8653091

3.46423 — 0.458091

—8.00000 + 0.1

—0.823200 + 0.900365.1

5.63050 — 3.073561

—0.823200 — 0.9003651

5.63050 + 3.073561

—0.886232 + 0.8386651

2.20397 + 6.819271

—0.886232 — 0.8386651

2.20397 — 6.819271

—0.782939 + 0.9410621

—4.53436 — 6.622841

—0.782939 — 0.9410621

—4.53436 + 6.622841

0.883660 + 0.8473981

9.22964 — 3.950821

0.883660 — 0.8473981

9.22964 + 3.950821

0.803804 + 0.9262211

3.27760 + 5.614271

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

0.803804 — 0.9262211

3.27760 — 5.614271

[ev] Rev] Heu] Hen) Hen) Hen) Hen] Hen) Nev] Ran]




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.880738 + 0.8571621 9.69162 — 0.232781 0
u = —0.880738 — 0.8571621 9.69162 4 0.232781 0
u = 0.878437 4 0.8711511 3.67628 4- 3.019821 0
u= 0.878437 — 0.8711511 3.67628 — 3.019821 0

u = —0.610477 + 0.4392551

—3.29528 — 3.496441

—6.18778 + 3.395421

u = —0.610477 — 0.4392551

—3.29528 + 3.496441

—6.18778 — 3.395421

u=0.229939 4 0.6992501

—0.424354 + 1.0326701

—6.76973 — 6.189661

u=0.229939 — 0.6992501

—0.424354 — 1.0326701

—6.76973 + 6.18966.1

u = 0.844032 4 0.9519391 3.41989 + 3.361251 0
u = 0.844032 — 0.9519391 3.41989 — 3.361251 0
u = —0.836819 + 0.9621251 9.35926 — 6.131781 0
u = —0.836819 — 0.9621251 9.35926 + 6.131781 0
u = 0.832840 + 0.9694521 8.84361 4 10.310701 0
u = 0.832840 — 0.9694521 8.84361 — 10.310701 0
u = —0.829260 + 0.9756311 1.77109 — 13.174401 0
u = —0.829260 — 0.9756311 1.77109 + 13.174401 0

u = 0.596016 4 0.3733361

3.12910 + 1.026451

—2.02831 — 3.487901

u= 0.596016 — 0.3733361

3.12910 — 1.026451

—2.02831 + 3.487901

u = 0.635066 + 0.2774011

—3.94406 — 5.448701

—6.82965 + 3.243841

u = 0.635066 — 0.2774011

—3.94406 + 5.448701

—6.82965 — 3.243841

u = —0.610761 + 0.3174011

2.90528 4 2.852351

—2.90911 — 4.010011

u = —0.610761 — 0.3174011

2.90528 — 2.852351

—2.90911 + 4.010011

u = 0.540222

—8.09120

—10.3100

u = —0.376064

—0.895266

—10.7040




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cg, C8 utF13uB 4 —u 1
c2,C7 w4 —u—1
€3 w4 u® 4 — 94Tu — 457
€4, Cs5,C10 W uB 2 3u—1
C11
Cg,C12 U54 — 9U53 + e+ 607u — 89




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1,C6, C8 > 5Ty 4 — 4By + 1

Co,C7 P13 4 —y 1

€3 yP + 17y + - 4 468707y 4 208849
€4, Cs5,C10 y54—59y53+---—y+1
C11
54 53
9, C12 Yy A+ 37y + -+ 87587y + 7921




